1.1.1.6 (eth0) — 1.1.1.196

(eth1)
192.168.1.196 192.168.1.197
(eth0) (ethl)

A B

C

Setup:
On machine A and B runs openswan (2.6.29).
I need to run netkey on both machines (and not KLIPS)

On machine A:

eth® has 1.1.1.6 on eth@; connected directly to machine B (via ethl
of machine B).

Can ping to 1.1.1.196

On machine B:
- ethl has 1.1.1.196 ; connected directly to machine A via eth® of machine

able to ping 1.1.1.6 before starting ipsec service.
- ethO has 192.168.1.196 ; connected directly to Machine C via ethl
of Machine C ; able to ping 192.168.1.197.
On_machine C:
192.168.1.197 on ethl. Connected directly to machine B and can
ping 192.168.1.196.



